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HAE
db.users.find();
{ "_id" : ObjectId("601ale98fb91390a854cf027"), "name" : { "first" : "john",
"last" : "kennedy" } }
{ "_id" : ObjectId("601a3c13fb91390a854cf028"), "name" : { "first" : "john2",
"last" : "kennedy2" } }
{ "_id" : ObjectId("601a3clafb91390a854cf029"), "name" : { "first" : "john3",
"last" : "kennedy3" } }

> db.users.getIndexes();

[

{
"v" 2,
"key" : {
" ig
})
"name" : " _id "

}s
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// dot notation O|&A
// winning plan , "st
db.users.find( { "nam
db.users.find( { "nam
// winning plan , "st
db.users.find( { name:

.users.find( {
.users.find( {
.users.find( {

name:
name:
name:
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3

s A
Ilnamell
"name_1"
|
age" "COLLSCAN",
e.first": "john" , "name.last": "kennedy" } ).explain();
e.first": "john" } );
age" "IXSCAN",

{ last:"kennedy",first:"john"} } ).explain();
{ first:"john", last:"kennedy"} } ).explain();
{ first:"john" } } ).explain();

{ last:"kennedy"} } ).explain();

mE| A AN
SRAS 4R YRo UX|SHE THES ZME [ ALZE 4 UL

db.users.find( { name: {$regex: /~chlee/ } } )

db.users.find( { name: /“chlee/ } )
Z| A AZHE SQL 2 LIKE "chlee%" F 22 40| Ot 7S THESOF SHCt

e "AmN E Alxl--‘-l_7|

o "AO|Q0f ot BUA ZSIA| G
ZCERIEES
HHY QlEiA= F2|o| Ayt QlHA HE QI AL collection 2 HMA SHX| @410 QIEIAOM HIZ ALtgE
Ul e 98 Bt
Ol A QIE| 4| M
HEE AL =2 QHAE 0|85 2f2to| AWE &5t WSSl 2 E 2 X3t 5t= HAS &
siCt

o ARERIZE XI5 AtEE 4= BiCt

o T O|de A AT ALEE = ULt

o explain() Ol M AtE 0|2 E =tolgt 4= QULC}

o AND_SORTED or AND_HASH AH|O| X|

Hash @I & A
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o md5 2f, 8HIO|EZ Tt QI AT} 1M EICF

o field 7} 1+ 8HFO|E O|&f0[2tH

o M22|, C|AF i/o N 54 FEISITE
o ESATHE 64bit 2422 HBHSIC} (truncate)
* hash gt 22135}7|

o convertShardKeyToHashed() € &3l hash ¢t ¢! 7=

* hash QIEA L2 b-tree
o 7| & hashed 2f2 7tX|LE 82 b-tree £ E|0 ULCH.

Rl oAbt

e array ZE
* hash 242 28T
e hash Zf2E2 QEAZ
* compound index & sing

o M= 7o

o CHZAA
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o
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le filed hashed + - dgt 4= UCt

E £ 0|83}0] compound index 2t FAtSHA Bt 2= QUCH
M7t SEOLOF ShCt,

H>

Il
E

// single field hash index
db.collection.createIndex( { _id: "hashed" } )

// compound hash index with single hashed field
db.collection.createlndex( { "fieldA" : 1, "fieldB" : "hashed", "fieldC" : 1)
hash 2182 = 7|9 B ZO0|7} gHIO|E £t H oM S5 H|WA|Of|2H 7 2[SHCH

2E|7| IEA

// {a: 1, b: 1} XN E=x9| Hig ZEE A 2E compound QIHAE Mder 5= QiCt.

{ _id: 1, a: [ 1, 1, b: [ 1, ], category: "AB - both arrays" }

// { a: 1, b: 1 } E compound QIEA Al & B HIO|H= YT = QiCt.
{ _id: 1, a: [1, 2], b: 1, category: "A array" }
{ _id: 2, a: 1, b: [1, 2], category: "B array" }

// { Ila Xll 1) na le 1 } E gg)\| |_EH DA_II_
// BF HIE HE& SHLRIAS THESH| M0 7HsSStCt.
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{ _id: 1, a: [ { x: 5, [1, 2]}, {2z:[1,2]1}1}
{ _id: 2, a: [ { x 5},{24}]}

o QIEIA QAIER[Z} 50{'E =5 INSERT 2| H& Xt7t 2 == ULt

o HE|F| QEIAE= METF|E ALEE = it

o SHA| YN2|FE ABSHE QEAE HE|Z| QHAZ FHOlE = giCt
o ZE|7| Q=A== FHHY QE A M Tt QHEICE

HE|Z| QA=A bound

HE|7| QB AO| A7

29 Hels it QAL CHECE

db.survey.insert({ _id:1, item: "ABC", ratings: [2,9] })
db.survey.insert({ _id:2, item: "XYZ", ratings: [4,3] })
db.survey.createIndex({ratings:1})

// Lk QIHABIH paings :[4,3] OF LIQLOF SHCE,

> db. survey find({ratings: { $gte:3, $1lte:6 }})

{" 1, "item" : "ABC", "ratings" : [ 2, 9 ] }
{" 1d" : 2, "item" : "XYZ", "ratings" : [ 4, 3 ] }

HE|7| E A= 2 H2|0f TS Ci52aF 2 0f X 2[Rt

// 5= B[ union
ratings: {$gte: 3}
ratings: {$1lte: 6}

0| 42 $elemMatch S Al2E %= QICH

> db.survey.find({ratings: {$elemMatch:{$gte:3, $1lte:6}}})
{ "_id" : 2, "item" : "XYZ", "ratings" : [ 4, 3 ] }

// $elemMatch & AMESIH F Zito| uygtoz o =Z HiSIGHT},
ratings: {$gte: 3}
ratings: {$lte: 6}

/7 Tl g H2 HiE 24 F StLigte LX[GHHE true 2 ZHF SiCL
db.survey.insert({ _id:3, item: "MNQ", ratings: [2,4] })

> db.survey.find({ratings: {$elemMatch:{$gte:3, $1lte:6}}})
{ "_id" : 2, "item" : "XYZ", "ratings" : [ 4, 3 ] }
{ "_id" : 3, "item" : "MNQ", "ratings" : [ 2, 4 ] }

.l
AN a

Ne SR tof ths) LEI7|S ALBHE B2 T %
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db.survey.insert( { _id:1, items: [ {item: "ABC1", rating:2}, {item:
rating:9} 1 1)

db.survey.insert( { _id:2, items: [ {item: "XYZ1", rating:4}, {item:
rating:3} ] })

db.survey.insert( { _id:3, items: [ {item: "MNQ1", rating:2}, {item:
rating:4} ] })

db.survey.createIndex( {"items.rating": 1})

/] BEXE AEH

> db.survey.find( { "items.rating" : { $elemMatch: { $gte: 3, $lte:
(BLES)

> db.survey.find( { items :{ $elemMatch: { rating: {$gte: 3, $1lte:

{ "_id" : 2, "items" [ { "item" "Xyz1i", "rating" }, { "item"
"rating" } 1}

{ "_id" : 3, "items" [ { "item" "MNQ1", "rating" }, { "item"
"rating" } ]}

HE|7| QA ALEA| SSH| = LEQIEFA QL ZHR|TF H Q| AZHA
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2 AOOf Tl A HEf2 242 X RIS,

3/24/2021

"ABC2" B
"XYZZ" B

"MNQZ 1] B

Fr)

P
"XYz2",

"MNQZ 1] B

A2 bound O CH F2| S| A AL

* n-gram
e BE EXAEES YF2 Z0|Z HEtM HE It It WA o[t
EfA BN n-gram
010] of - =7tE 2 Y02 50| Hetof oot - ¢lojel EdE 15X E=Lf
_,FI__E— -E YUEFLE S -OZE RV YN BE HR
- - BE HHoo o 22 Rl of Lt BiCt
-BEEXNEE YE A2 MR L

ol A -=280/8 TS 2 FHE 2T 71X 7| iZof  FIct
37| 0| 2t -2709 AIHAE ZHEIV| 20 3
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el B n-gram
s ;T._:I:ilﬁ 80| X0} insert/delete 90| Hlm= it gar0| 302 AjMo 2 Lt}
AMF - L0250 w2k FE KO| 7k M BTt -2 HECR BN EHE Y
= -Yn2[E Mo E2 H|80| ELCL 2 == At
FE A QIH A ALS

/1 BE 2#
db.articles.createlndex( {title: "text"}, {name: "articles name"})
db.articles.createlndex( {title: "text", contexts: "text"})

// THRHE &
db.articles.createIndex( {"$**": "text"})

/1 AHHAl QE A O|E2 20 AMXN|7} 7HSSHEt.
db.articles.dropIndex("articles_name")

22 TS 28 + A2 HOIHE =22 [ SREE 7|E2=2 YA 20E 7IH 2 &+ AUCL

AU A $meta E S| "textScore" E HH2SHA E| =0 A A BIAIS
o THUTIIER S5 EF weight 20| BFSHEICE
o AE OfHO|E= 0.75 * N (YX|SH= THO| o) 2 A AH=ICH

db.scripts.insert({movie name: "starwars", phrase: "droids"})
db.scripts.insert({movie_name: "starwars", phrase:"These are not the droids you
are looking for"})

db.scripts.createIndex( {movie_name:"text", phrase:"text"})

> db.scripts.find({$text:{$search:"droids looking"}}, {score:{$meta:"textScore"}})

{ "_id" : ObjectId("6058385a5a6ee739dcdb4bbd"), "movie_name" : "starwars",
"phrase” : "droids", "score" : }

{ "_id" : ObjectId("6058385f5a6ee739dcdb4bbe"), "movie name" : "starwars",
"phrase” : "These are not the droids you are looking for", "score" : }

HE AM ol A= compound CHS I ZH2 HEHTH 7Hs St

* b-tree QEHA + text ZE
o b-tree DEI} MAHE|ACHH HAA| Left-most match +&! 0] 2} s S ZE = MSHE|0fOF $HCt,
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HA REICHT S} Obe|LE. 0| A2HA0| gloj 2 Q)

// b-tree & S ddEl= BR
/1 AEL HEAl b-tree 2o HE
// B2 220 YEECHH 2SO,

db.scripts.insert({jenre:"a", movie_name: "starwars", phrase: "droids"})
db.scripts.insert({jenre:"b", movie _name: "starwars", phrase:"These are not the

droids you are looking for"})

/1 8oz HEAl Lf
db.scripts.createIndex( {jenre:1, movie_name:"text", phrase:"text"})
> db.scripts.find({$text:{$search:"droids looking"}}, {score:{$meta:"textScore"}})
Error: error: {

"ok" : 0,

"errmsg" : "error processing query: ns=myDB.scriptsTree: TEXT :
query=droids looking, language=english, caseSensitive=0, diacriticSensitive=0,
tag=NULL\nSort: {}\nProj: { score: { $meta: \"textScore\" } }\n planner returned

error :: caused by :: failed to use text index to satisfy $text query (if text
index is compound, are equality predicates given for all prefix fields?)",
"code" : 291,
"codeName" : "NoQueryExecutionPlans"
}

/] 2RI= dEA 45
> db.scripts.createIndex( { movie_name:"text", phrase:"text" ,jenre:1})

{

"createdCollectionAutomatically" : false,

"numIndexesBefore" : 1,

"numIndexesAfter" : 2,

"ok" : 1
¥
> db.scripts.find({$text:{$search:"droids looking"}}, {score:{$meta:"textScore"}})
{ "_id" : ObjectId("60583b405a6ee739dcdb4bc6"), "jenre" : "b", "movie name"
"starwars", "phrase" : "These are not the droids you are looking for", "score"
1.5 }
{ " _id" : ObjectId("60583b405a6ee739dcdb4bc5"), "jenre" : "a", "movie name"
"starwars", "phrase" : "droids", "score" : 1 }

// text HEES2 M2 QIFSHOF SHC.
> db.scripts.createIndex( { movie_name:"text",jenre:1, phrase:"text" })

{

"ok" : 0,

"errmsg" : "Error in specification { key: { movie_name: \"text\", jenre:
1.0, phrase: \"text\" }, name: \"movie_name_text_jenre_1 phrase_text\", v: 2 } ::
caused by :: 'text' fields in index must all be adjacent",

"code" : 67,

"codeName" : "CannotCreateIndex"
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OFE[M S
HE dM QA 495t EE o2 HOIH7 H2 4% B2 UYL HO[X| S A Masof 5t7| =0
Cta 450 B0 2 == AUCL O|Wf b-tree 2 A2 QLS W HY 2 LEIME 215 = 5 AL

ol2d, a7t 20120 THE|M H|O|22| F2d €2 =1tE 0|07| of X[ 2 2t OtLt S5 HIO[H 7t
CHH 022 EIOIHE S=5=A X 35

oS =0 Lt 22 F(abc)0| ALt 7

—_

U=

{date:"2019-01" , contents: "a b c"}
{date:"2020-01" , contents: "a b c"}

LHEIM S ot x| @ QAEA0E "ab " & ST ZEX| D QA 2| X| 2 9 MY b-tree HEIZ T HE &
F'abc" & T2 A K ER TE[M 2 ERO|E 2= L= 44

o1 2 A aEAL M|

olof 1

{ _id: 1, idioma: "portuguese", quote: "A sorte protege os audazes" }
{ _id: 2, idioma: "spanish", quote: "Nada hay mas surrealista que la realidad." }
{ _id: 3, idioma: "english", quote: "is this a dagger which I see before me" }

db.quotes.createIndex( { quote : "text" },
{ language_override: "idioma" } )

L= R A2

> db.quotes.find( {$text:{$search:"Dagger"”, $language:"english",$caseSensitive:

true}})
(not found)

> db.quotes.find( {$text:{$search:"Dagger"”, $language:"english",$caseSensitive:

false}})

{ " id" : 3, "idioma" : "english", "quote" : "is this a dagger which I see before
me" }

>

27 Hlmet 2 AN

SHO|E("-")2 AHE8ll FEHILE & & AL,

> db.quotes.find( {$text:{$search:"dagger see"}})
{ "_id" : 3, "idioma" : "english", "quote" : "is this a dagger which I see before
me" }
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> db.quotes.find( {$text:{$search:"dagger -see"}})

>
23 HMA| B or RHUOR Q14| 511 QL4 CIZHE S and 2 914 BT,

> db.quotes.find( {$text:{$search:"dagger chlee"}})

{ "_id" : 3, "idioma" : "english", "quote" : "is this a dagger which I see before
me" }

> db.quotes.find( {$text:{$search:" \"dagger\" \"chlee\" "}})

>

mato|mal 7)ot MZAG 2| ol A

o IZ2t0|HE| 7|
o _id 2= @ER ZEto|He| 7|7t & 5= UL
o ZZto|He[ 7|7t @l= =88 5= gl
o hash 2IHAZ Mg
o compound QIEAZ Mgt 4= f
» MEERHEE AEY =& AUCL

collection

= " id:{name: "chlee", address: "seoul"} }"
o« Mzicial oA
o mao|H2| 7|2 Mot BE QlHA

SIRERIETES

collection 2 CHA 2 2 uniqueness 3t E4 2 ZXSiA QIHAE ME 4= QUCH

// single field index

db.members.createIndex( { "user_id": }, { unique: 1)

// compound index

db.members.createIndex( { groupNumber: 1, lastname: 1, firstname: }, { unique:
})

// multikey index

{ _id: 1, a: [ { loc: "A", qty: }, { qty: Y13}

db.collection.createIndex( { "a.loc": 1, "a.qty": }> { unique: 1)

EONE

e hash index O M= At == QILC}
e collection H|O|E{0]| uniqueness & ?|t5t= OIO|E 7t UCHH Mg 5= GICH
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* replicaset
o primary It E 0| A =&BIC},
* sharded cluster
© mongos Of| Af ="4iBtCt,
Partial Q1= A9t Sparse QI E| A
sparse QIEA
sparse QIHAE= X|FE HETL CHFHEN EXSt= AR08 QY S St SMOICE O|E S0 2HE| ¢t
Of null 21 % I=HO| |X|2t HE XN 7t gl= BR0= AHHO| £|X| F=Ct
db.sparse.createIndex( {birth_date:1}, {sparse: 1)
db.sparse.insert( {"name": "matt"} )
db.sparse.insert( {"name": "lara", "birth_date": 1)
db.sparse.insert( {"name": "cathy", "birth_date": "10-21" } )
// index & ARESHA| Xgt
> db.sparse.find( {birth_date: {$exists: } 1)
{ "_id" : ObjectId("6056fec629b907835cae0623"), "name" "matt" }
// index & AREOSFX|TF Zut7t RAHHSEX | e
// sparse index O birth_date 7} 9= CHRTHE FEIL Q17 ME0 F-2tst 21071 Lz
Ct.
> db.sparse.find( {birth _date: {$exists: } } ).hint( {birth _date: 1} )
>
partial &2
partial QA= ALEXZE S &850 CHRUEE QIH YL} paritialFilterExpression &2 AHE 510
AL ZHE A-Y = A2 ZHO| Wef sparse QN EH AL S AUSHAH S25HA & 4= UL

® partialFilterExpression

o equality expressions (i.e. field: value or using the $eq operator)
o $exists: true expression
o $gt, $gte, $lt, $lte expressions
o $type expressions
o $and operator at the top-level only
QIEA LE L Ot EEE partialFilterExpression O At&ot 22 SiZEEES
oLt
TTL Q& A
E X|
= O
o IWMEIYS HEE WY TTL QIHAE MY 5= ULE
o “do{ Tl expire A|ZtO| L& CrRHE = AMA| EICH
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60 ZtACZ W22 E thread Of 2I3l AFA| 7} Al = =ICE,
replica set 2| secondary Ol A{-= primary Ol A| A& &|:= A| & 0]l operation O] H-& EILCt,

M opAf2S

JI=PN

—_ 1

SR EIRIO WEE MO index E MMHE 4 ULt
compound index & Mg 5= QICt

_id 220 4 de = |io.

capped collection Of 4-dg 4= gIC}

7| E2] expireAfterSeconds #f= HAY &= QICt.
collMod BHCo = HAY == UL

7|1 ZL TTL QHAE M AHSIL M= 4 otrt.

dt olE Ao ZPE ZEE IHHM2Z TTLindex E e 4= giCH

_I_
-?l

=2 0| M (Collation)

mongodb 3.2 7tX| = case-sensitive A Q2 CAZ XS H| WS AX| 2 3.4 2 H collation O] &= & = RULCH.

off Al

db.

db.

db.

//

db.

//

db.

//
db

//

db.

//

collection & Bt= collation = X8 &= UL}

case insensitive index £ PF= collation & X|QSHX| 24 2™ collection 2| collation = &% &=L},
collection 0] collation 2 X|’33}11 index £ d/det F| 2|0 collation O S collection 2| collation
= o4& g=rt

X|d3t collation = BHZAS 4= QiCt

collation I} CHE collation 2 2 HMEL= AL index & AFES = QICH

createCollection("fruit")

fruit.createIndex( { type: 1},
{ collation: { locale: 'en', strength: } 1)

fruit.insert( [ { type: "apple" },

{ type: "Apple" },
{ type: "APPLE" } ] )

JHAZ ALY 4 QICh ZIbe 47t Liect.
fruit.find( { type: "apple" } )

OIAZ ALSE 4 UCt. Zubs 377t Lp2Ct,

fruit.find( { type: "apple" } ).collation( { locale: 'en', strength: 1)

AHAZS ALY 4 QT AIts 377t 2L,

=
.fruit.find( { type: "apple" } ).collation( { locale: 'en', strength: 1)

o

collection O collation 2 X|&dl= 4%
createCollection("names", { collation: { locale: 'en_US', strength: } 1)

AH A AI-_/_.|\_ =13

index MMA| collation & 4 3h=CF,

rir
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db.names.createIndex( { first_name: 1 } )

// HOlE U=
db.names.insert( [ { first_name: "Betsy" },
{ first_name: "BETSY"},
{ first_name: "betsy"} ] )

// HE|O collation & X|HSIA| FLOFE collection 2| collation & [ME1

// collation O] &Yt index 7| /UCHH ALEZ == RULCE.
db.names.find( { first_name: "betsy" } )

2|27 (FK)

mongodb M M= 2[2f7|E X[ &ASHA| =L,
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